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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307220049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307220050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307220051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307220052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307220053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307220048 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307220049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307220050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307220051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af 2021 % S 1 AR YR T 9 T € o 2020 § o, 1 2020 7 2021 F SR F FIR A
o /e e &7

(1) %175 #E g
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%) 175 IS &

(
(
(4) 7140 #E g



Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307220052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307220053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072786
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307220054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307220054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307220055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307220055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307220056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307220056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307220057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307220057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307220058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307220058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307220059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307220059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307220060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307220060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307220061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307220061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307220062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307220062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307220063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307220063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307220064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307220064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307220065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307220065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307220066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :

(1) (A), (D) Only

(2)  (A), (B) and (C) Only

(3)  (B), (C) and (D) Only

(4) (A)and (B) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307220066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes § 9 4 O GFeqad 1 99R ¥ Gefed 8 ?

(A) dIfvees am
(B) WA T
(C) WHd for

(D) T HERid ol el
= feu U faspedi H § W& 3T & =9 HITaT
(1) Fad (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307220067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307220067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307220068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307220068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307220069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307220069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307220070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307220070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307220071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307220071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307220072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307220072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307220073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307220073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307220074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307220074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307220075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307220075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307220076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307220076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307220077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307220077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307220078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307220078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307220079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307220079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307220080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307220080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307220081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307220081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307220082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307220082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307220083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307220083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307220084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307220084 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307220085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307220085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307220086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307220086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307220087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307220087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH
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Options :
1.1
2.2
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4.4

Question Number : 40 Question Id : 53307220088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307220088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307220089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307220089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307220090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307220090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307220091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307220091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (A), (B) (C)
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Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307220092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307220092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307220093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307220093 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072787
Question Shuffling Allowed : No

Question Id : 53307220094 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307220095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307220096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307220097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307220098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307220099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307220094 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307220095 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307220096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307220097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307220098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307220099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Geography
Section Id : 533072264
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072788
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307220100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following organisations 1s responsible for Delimitation of the Exclusive Economic

Zore according to United Nations Convention on the Law of the Sea (UNCLOS III) ?
(1) International Seabed Authority

(2) International Tribunal for the Law of the Sea
(3) International Boundaries Commission
£

4)  United Nations Commission for limits to the continental shelf

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307220100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) A R A T FRer (UNCLOS III) % SR s e &1 o wfteiios o ford Feifctfa
¥ P 51§ foeR 87

Options:
1.1
2.2
3.3
4.4



Question Number : 52 Question Id : 53307220101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following mountains from North to South :
(A) Savan

(B) Arakan Yoma

(C) Kunlun

(D) Nanshan

Choose the correct answer from the options given below :
() (D), (A) (©), (B)

(2) (&), (D), (Q), (B)
(3)  (B), (O) (D), (A)
(4) (A), (B), (©), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 53307220101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafed Jeidl o1 3 | Sfarn o wn 7 safead #
(A) WrEA

(B) WM &Ml

(C) FITA

(D) A9

= feu 7o fasredi § § 9 SO & =94 e

(1) (D), (A) (C), (B)

(2 (@A), (D), (O), (B)

(3) (B), (Q), (D), (A)

(4) (A), (B), (©), (D)

Options :
1.1
2.2
3.3
4.4



Question Number : 53 Question Id : 53307220102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not a criteria adopted by Whittlesey to classify world agricultural
regions ?
(A) Crop and livestock combinations
(B) Intensity of land use
(C) Processing and consumption methods
(D) Use of primitive tools
(E)  Types of agricultural buildings
Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only
, (€) and (D) Only
A), (B) and (E) Only
) (

(
(3
() (A), (B)and (D) Only

(B)
] 1
4
Options:
1.1
2.2
3.3

4.4

Question Number : 53 Question Id : 53307220102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁﬁf@aﬂﬁﬁﬁwwﬁﬁ?ﬁﬂaﬁﬁwﬂ%wﬁm%mﬁmﬂﬁww%?



Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307220103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the preconditions assumed by Weber in his industrial location
theories ?

(A) Some raw materials are fixed in location whereas others are ubiquitous

(B) Markets are fixed at certain points

(C) Transport costs are determined only by weight of product and not by distance
(D) Perfect competition exists

(E) Man does not acts rationally

Choose the correct answer from the options given below :

(I) (B), (C) and (D) Only

(2) (A), (C) and (E) Only

(3) (C), (D) and (E) Only

(4) (A), (B) and (D) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307220103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e g AT sfefrer vy fagidr § frefafes € § 20 @ @ wd e w2
) TP Felt W W R e & el o v e €

) s e fogel W fa §

Q) ftaed @ gt 5N el afcer ket TR g FRefifid i R €
D) ol et feoermm &

(E) WA ThETd 2§ 1 T

A fou T foeredl § § We® Ige ST H T HfeT ;

() e (B), (C) 3R (D)

(2) %9 (A), (C) ¥R (E)

(3) e (C), (D) 3R (B)

(4) ¥ (A), (B) R (D)

(A
(8
(
(D)

)
)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307220104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Town) (River)
(A) Surat () Musi
(B) Ayodhya (II) Chambal
(C) Kota (III) Saryu
(D) Hyderabad (IV) Tapi

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(1), (C)-(IV), (D)~()
(2)  (A)(IV), (B)(ID), (O)-(I1D), (D)-(T)
(3)  (A)-(IV), (B)-(L), (O)-(1), (D)-(1)
(4)  (A)-(IV), (B)-(III), (C)~(1D), (D)-(I)

Options :
1.1
2.2



3.3
4.4

Question Number : 55 Question Id : 53307220104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - 1 =1 ferd i
Tl - 1 Tl - 11

(™) (<)
(A) g @
(B) Il (I =&
(C) I wg
(D) TeEE (IV) T

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)-(1), (B)-(11), (O)-(IV), (D)-(I)
(2)  (AAIV), (B)~(1D), (O)-(I1L), (D)-(I)
(3)  (A)-IV), (B)~(I1D), (O)-(1), (D)-(1T)
4) (A)-(IV), (B)-(1I), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307220105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where are the Headquarters of Meknng River Commission located ?

(I) Bangkok, Thailand

(2

) Vientianne, Laos
(3) Yangon, Myanmar
)

(4) Phnom Penh, Cambodia
Options :

1.1

2.2

3.3

4.4



Question Number : 56 Question Id : 53307220105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeRT=T el AT o1 Ao el [ed 8 2
(1) i, aEeis
(2) Toramfazm, st
(3) T, AER
(4) H U=, A
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307220106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Chamizat Dispute was a boundary issue between :
(I) Spain & France

(2) USA & Mexico

(3) Mexico & Guatemala

(4) Mexico & Belize

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307220106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LS A EE I o = HIHT o1 | o |
(1) &1 3R %H

(2) FUET IR AfH]

(3) HiFEeR! SR TEreHTE

(4) HiFEEH! SR afers



Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307220107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is the correct sequence of classification of seas from the coastline of a state ?
(A) Exclusive Economic Zone

(B) Contiguous Zone

(C) High Seas

(D) Territorial Waters

Choose the correct answer from the options given below :

1) [O) @) "), 0

@ (A, 6,0 O

3 (© A B, D
W (@) (0 D), (A
Options :

1.1

2.2

3.3

4.4

!

Question Number : 58 Question Id : 53307220107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U <Y F Tz 92 Y GHET F FRI0 1 TWEl 9 P G182

(A) Tader anfefe &=
(B) wffea &
(C) Gl ¥R
(D) WRfRE S

T fou o fawedi § 9 O& SO F F94 FHife
(1) (D), (B), (A), (©
(2) (A), (B), (), (D)
(3) (©, (A), (B), (D)
4) (B), (), (D), (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307220108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements related to industrial location theories and choose the correct :

(A) Weber's theory seems to be less accurate with heavy manufacturing firms of developed
countries.

(B) Losch seem to be more accurate with consumer and service industries of less developed
countries

(C) Weber has overemphasised on costs

(D) Losch has given too much attention to demand

Choose the correct answer from the options given below :

() (8) (C) and (D) Only

2) (A), (B) and (C) Only

3) (A),(C) and (D) Only

@
3 @)

(4) (A), (B) and (D) Only
Options :

1.1

2.2

3.3

4.4



Question Number : 59 Question Id : 53307220108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sitefirer srafeafd fagrdl @ gefim frefafed SoAi W foer w8 R wet & 70 #+
(A) oo <o & it fafmin Sufe & an o oo &1 fagia &9 92 vda g ¢ |
(B) W foremfm <o o SUNAR S Fell TAMT & TR H Tre] 911 el Yt &t ¢ |

(C) 3R A T W aferer a1 o B

(D) @97 AT R g Ay A e 2

it feu U fereredl # ¥ Ha® IS I R T HIC ;
() %9 (B), (C) R (D)

2 %ﬂﬁumﬁm

(3) %= (A), () ¥R (D

(4) ¥ (A), (Bwﬂm

Options

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 53307220109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List - I List - II
(Author) (Book)
(A) RG. Barry and RJ. Chorley (
(B) PXK. Das (D)
(C) W.G. Kendrew (Il) Atmosphere, Weather and Climate
(D) G.T. Trewartha (IV) An Introduction to Climate
C

hoose the correct answer from the options giv en below :

) The Monsoon
I

Climates of Continents

(1) (AHIV), (B, (CHD), [D}I)
(@AM, B)-0), (OALV), (DHIL)
() (A)-(I), B(D), (©-(), (D-IV)
(4) (A0, (BH), (C)-(I), D)-IV)

Options :



1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307220109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it - 1 919 Tl - 11 e s

et -1 e - 10
(eI ) (I )
(A) LS o S SIS, 9 () AT
(B) W T (I) FARHH 3 Fl=ded
(C) T Fgg () AR, 9e Ug FIBHe
(D) S, feane (IV) T Z2TeHM 2 FRHe
< fou v feredi # § W& TR 1 97 FC ;
(1) (AHIV), (B)(I), (C)-(I), (D)-(IT)
(2) (A, B)-(0), (C-(IV), (D)-(II)
(3)  (A)-(Im), (B){I), (C)-(I), (D)-IV)
(4) (A0, (B)-(L), (O-(I), (D)-(IV)
Options:
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307220110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The positive and negative values of the Southern Oscillation Index (SOI) are indicator of good and
bad monsoon in India, which among the following are positive sign of SOI ?

(A) Port Darwin Pressure exceeds Tahiti.

(B) Tahiti pressure greater than Port Darwin.

(C)  Pressure high over east Pacific and low over Indian Ocean
(D) Pressure high over Indian Ocean and low over east Pacific.

(E) Low rainfall over eastern Pacific and prospect of good monsoon rain over India & Indian
Ocean

(1) (A), () and (D) Only
(2) (B), (C) and (D) Only
(3) (B), (C) and (E) Only
(4) (A), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307220110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ol e e (300, ) 6 e S TR T O ¥ e R 9 A F O
fowafeifem & 9 2 3 0,301,978, TR T ¢ /

(A) W o Tl et | aaferr & I €|

(B) et gl e gifed § ek |

(C) il it FRFARR. 0 3 %l &AM e W W e 2|

(D) & WeTaR R 3 <A 4R o i TR W e g

(E) Tl YT TR TR 6 o IR e e fe wemaR o WA i % SR

7 feu o foeredt # B W S T

(1) e (), (B) 3 (D)

(2) A (B),(C) 3 (D

() o (B), (C) 4T (E)
(&) % (A), (D) ¥ ()
Options :

1.1



2.2
3.3
4.4

Question Number : 62 Question Id : 53307220111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of transformation is required by principal component analysis of a set of interrelated
structural variable into a new set of independent variables ?

(I) Hexagonal

(2)  Orthogonal

(3)  Octagonal

(4) Pentagonal

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307220111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@ T F T T He H T el eI o o U H2 o T S (ool o ot g T
Tt i S &

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307220112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which statistical method is applied for ‘significance test of correlation coefficient’ ?
(1) Chi-square test

(2) Z-test

(3) ANOVA

(4) ttest

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 53307220112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" ega TN % Hew wem'’ o e #E o witem! fofy wm A @E 6| g ?
(1) -3 e
(2) SE-Tem
(3) TTAAT (ANOVA)
4)  A-wlem
Options :
1.1
2.2

3.3
4.4

Question Number : 64 Question Id : 53307220113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correctly matched regarding climate and house type ?
(A) Steppes - Mud house

(B)  Arctic - Igloo

(C) Humid temperate - Stilt house

(D) Tropical rainforest - Hut on tree

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (B) and (C) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 53307220113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A SR R F WER F Gaiw H frefafea § § 0 @ m gd 82
(A) = - giwe =

(B) THfEH - T

(C) o vt - fee e a1 Rararr

(D) IoThfEAHE Fulad - 94 I FHfedn

= fou u foeredi # | Wt ST R =9I FHISIT

(1) a4 (A), (B), (C)
(2) ¥ (D), (O), (B)
(3) A (B) 3R (C)
(4) F9 (A), (B), (D)
Options:

1.1

2.2

3.3

4.4



Question Number : 65 Question Id : 53307220114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements given by Myrdal in his model of cumulative causation :

(A) Myrdal called the movement of wealth from the poorer regions to the central rich region the
back-wash effect.

(B) The increased wealth in the initially developed area would percolate downwards to the less
developed areas.

(C) Regional differences are not the natural outcome of economic development.
(D) Advanced technology might also be diffused over an ever wider area.
Choose the correct answer from the options given below :

() (B) () and (D) Only

) (4)(8)and D) Only
(3) (A), (C) and (D) Only
(4) (A), (B) and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307220114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS g Hel - (e HvA) o Hied H U T HE A A e
(A) e A e (e e § S We & 9 T WUl o 5o B aF-a §9e |
(B) Ry ¥ ool U 4 ¥ 99 T WO A9 T H Foepin o ) W e 2
(C) &t St ek forehma o wamfoes I T & |

(D) 3 SRt 0 off s & e o Fehel |

i f5U 0 foered ¥ @ WarR I T A W HI
(1) e (B), (C) &R (D)

(2) 3 (A), (B) AT (D)

(3) e (A), (C) ¥R D)

(4) % (A), (B) I ()

Options :

1.1

2.2



3.3
4.4

Question Number : 66 Question Id : 53307220115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following classes of villages according to their sizes in ascending order :
(A) Kalan

(B) Khurd

(C) Khera

(D) Nanglay

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (D)

(2) (B) (4), D) and ()
(3) (©), (B) (A) and (D)
(4) (D) (A), (C) and (B)
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307220115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefetfiaa el o ol 1 37 STFR % STTER &) W § afeed # ;
(A) Al

B) T

©) @

(D) AT

A fou Tu foskedl # | W& I A1 9 FHIWC

(1) (A), (B), (O ¥R (D)
@ (B, (A) (D) R (Q)
(3) (O, () (A) R (D)
(4) (D), (A), (C) 3R (B)

Options :



1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307220116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Instruments) (Uses)
(A) Dumpy level (I)  Measure air pressure
(B) Planimeter (II) Measure elevation of land surface
(C) Pantograph (IlT) Measure area of map
( Barometer (IV) Reduction and enlargement of map

Choose the correct answer from the options given below :
(1) (A, (B)-(IV), (O)-(1I), (D)-(I)

() (A)-(), (B)-(1D), (©)-(0), (D)-IV
(3)  (A)-(1I), (B)-(I1D), (C)-(IV), (D)-
@) (A)-(1D), B)-(IV), (C)-(0), (DA

Options :
1.1
2.2
3.3
4.4

)
)
I1I)

Question Number : 67 Question Id : 53307220116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



et - 13 919 g - 11 1 e s
-1 T - 11

( SUERIT ) ( SU=T)
(A) EF e () =S =1 |9
(B)  &r¥HeHTIl (1) Y- T SaTE F AT
(C) YR (IlI) HEFEHA T SRR 79T
(D) SgETEHTd (IV) HEEA &1 FH AT 91 a@H

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A)(I), (B)-(IV), (O)-(1D), (D)-(L)
(2) (A, (B)(1L), (O)-~(1), (D)-(IV)
(3) (A0, (B)-(11D), (O-(V), (D)-(D)
4) (A1), (B)-(IV), (O)-(I), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307220117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lake constance is located at the trijunction of which of the following set of countries ?
(1)  Austria, Germany, Switzerland

2)  Czech Republic, Germany, Austria

3

4

(
(3)  Austria, Germany, France

(4) Czech Republic, France, Austria
Options:

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307220117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea § § =9 9 29 & B w Sy e feom &2

(1) itz s, feesds
(2) =k Rafseer, ST, SR
(3)  IfEZEn, ST, WiE
(4) = feafeersr, Wi, sfegan
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307220118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In regression analysis, the unexplained variation is represented by :-

(1) r

{2) r2

@) 1-r2
(4) 1412
Options:
1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307220118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g faveon § sreanenfad fasmor SR S9N S ©
(1) r

{2) 1.2

(3) 1-r2

(4) 1+r2

Options :

1.1

2.2

3.3



4.4

Question Number : 70 Question Id : 53307220119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to tides 7

(A) According to the Equilibrium Theory of Tides, the tide producing forces would remain
stationary relative to the earth,

(B) Greater tidal ranges are experienced during perigean tides,

(C) During the quadrature phases of moon, the spring tides are produced with maximum tidal
ranges.

(D) The angular distance of the sun or the moon above or below the equatorial plane of the earth
is called declination.

(E) ~ The lunar day is of 24 hours and 30 minutes.

Choose the most appropriate answer from the options given below :

(I) (B), (C) and (D) Only

@) (4),(0)and () Only

(3) (A), (B)and (D) Only

4) (C), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307220119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s & Galy ¥ Frefefas § 4 FR ¥ P T )

(A) o Fqer fafigid % STER SR 3% F o Tl 9ol o Wy i T e

(B) e o ¥ < aafors o 1 e W €

(C) e 1 THA SR % SN e o Ford AferF Samd 151 % WY I &l |

(D) 9% % foata Joaet o SR 41 s g A < § i g it (Fefeerom) Feamd
() ¥ feam 24 %0 30 fire 1 &1

A fou T forredl ¥ ¥ Werd IR T T H ;
(1) e (B), (C) 3 (D)

() 9 (A), (C) 3 (E)

(3) % (A), (B) N (D)

(4 % (C), (D) 4R (B

Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307220120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the “Life Cycle of Cyclone’ from inception to destruction in proper sequence :
(A) Warm and cold air masses penetrate into the territories of each other.

(B) Development of cyclones and isobars becoming almost circular.

(C) Convergence of two air masses of contrasting physical properties and directions.
(D) Advancing cold front overtakes the warm front.

Choose the correct answer from the options given below :

1) (4)(0) D) and B

2 (A)®) 0 and (D)
) (O (A) ) and (D)
@ (O (), () and B
Options :

1.1

2.2

3.3

4.4



Question Number : 71 Question Id : 53307220120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URY § 37 € a A o e @3k ol 3fad HH H oFered FY
(A) T SR viiae g Ufe TEw TRk 4 il GSd € |

(B) ThAdl 3R WHEE (SRS ) 1 faehma TR TR & S ¥
(C) faudia siifaer 1o 31 feensti st |1 arg fer =1 st |
(D) TR SeaT g1 9ia Sram TH S § ST e S e |

Fr= feu o fomedi § ¥ W S @ 999 HifoT

(1) (A), (), (D) *iR (B)

(2 (A), (B) (O) ¥R (D)

(3) (O, (A), (B) ¥R (D)

(4) (C), (A), (D) ¥R (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 53307220121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Isohel (I) Cloud cover
(B) Isohyet (II)  Salinity in the ocean
(C) Isoneph (III) Sunshine
(D) Isohaline (IV) Rainfall

Choose the correct answer from the options given below :
(1) (A)-(I), (B)~(I), (O)-(1V), (D)-(I)
(2)  (A)(IV), (B)(I), (C)~(I), (D)-(II)
(3)  (A)-(1D), (B)-(I1D), (©)-(IV), (D)-)
(4)  (A)-(II), (B)-(IV), (C)-(1), (D)-(IT)

Options :
1.1



2.2
3.3
4.4

Question Number : 72 Question Id : 53307220121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 1% 919 Gt - 1 =1 foem e

it - 1 el - 11
(A) SEHEA () 9 e
(B) =TEHIErES (I) TRTETR H ST

(C) oZEE (1) TR T

(D) SMEHEART (V) S

== feu U ferredi § € W& IO I I HifC
(1) (A)-Im), (B)-(I), (CO-(1V), (D)-(ID)

(2 (AHIV), (B)-(II), (C)~(1), (D)-(II)

3) (A)(1D), (B)-(ID), (O)-(IV), (D)-(I)

(4) (A)-(ID), (B)IV), (O)~(D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307220122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding the Insolation (in percentage) received at the earth’s
surface are correct ?

(A) The total insolation is greatest at equator
(B)  The total insolation is greatest at poles
(C) The total insolation decreases from equator to poles
(D) The total insolation increases from tropic of cancer to north poles
(E) The total insolation declines from tropic of capricorn to south poles
Choose the correct answer from the options given below :
(1) (A), (), (C) Only
2) (B), (C), (D) Only
3 (C), (D), (E) Only
l

(
©, D)
(©), (E) Only

(
( /
@) (@)

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307220122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et il TaE W YT ek (wiowa #) % gy o frefafed § 4 wF R €
(A) 999 T R FA ST o e

(B) o W Fet U ol afer ¢

(C) wea T@ ¥ Yl FI TE Fot G T2 ¢ |

(D) e T A T 4 F TE Fot A g €

(E) e U@ ¥ SE o 1 T el A R

= feu 7o fomed © 9 W8 SR 1 999 FAAC
(1) e (4), (B), ()
(2) % (B), (C), (D)
(3) % (C), (D), (B)
(4) Fad (A), (C) (B
Options :
1.1

2.2



3.3
4.4

Question Number : 74 Question Id : 53307220123 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Who 15 credited with the establishment of World's First Gengraphical research institute in 1418 at

Sagres ?

(1) Master Jacome
(2) Rogerll

(3)  Cheng Ho

(4)  Prince Henry
Options:

1.1

2.2

3.3

4.4

Question Number : 74 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307220123 Question Type : MCQ Option Shuffling : No

i 1418 % i fove 1 Ve Sifern ST TR F1 T B 99 R S 2

(1) W S
(2) IR
(3) =TE
4) fome
Options :
1.1

2.2

3.3
4.4

Question Number : 75 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307220124 Question Type : MCQ Option Shuffling : No



The doctrine of ‘Containment’ can be linked to which of the following theories of Political
Geography :

(1) Organic Theory of State & Functional Approach

(2) Functional Approach & Unified Field Theory

(3) Rimland & Heartland

(

4)  Air power & Sea power
Options :

1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 53307220124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Y' % A 1 Freifafan il g ¥ fagt o & fags me sre w72
(1) T % Hfas fegid 3R i 3qm
(2) e SYFTY iR T & gt
(3) '

(4) e R HR WA

Options:

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 53307220125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vertical decrease in temperature in atmosphere is called :
(1) Temperature Inversions

(2) Albedo

(3) Lapse Rate

(4) Diurnal variation of temperature
Options :

1.1

2.2



3.3
4.4

Question Number : 76 Question Id : 53307220125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

araEer § argaH § swafe finee FeeIdl € |
(1) <9 hRH
(2 s
(3) ®=Esd
(4) TIHE 1 SR I
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307220126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to the elements of Air photo ?

(A) 'Size" helps in identification of objects in a photograph.

(B) ‘Shadow’ gives an idea about the height of an object.

©

(D) Shape is a visual aid, where by natural objects are generally characterised by curved or
crooked lines while man made features are detected by their geometric pattern.

Shadows are shortest in the morning and after noon and the longest at noon.

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (A),(C) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307220126 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

oY BRI % S o Tay ¥ Fefafen 8§ 9§ S e e

(A) PRI ¥ S 1 T F R § e, fer & |

(B) ‘TP T 3 S Wl B 0 fo A £

(C) B Yae 4R e o o D 2 & oI vt ¥ W e 2 €

(D) SR U S Wereeh 2, o rpfeer e oelm R % 1 28 el g <9 et €
e e S s T § g o €|

4 fou o fomredl 7 © W@ SR 1 T H

(1) e (A), () 4T (D)

(2) @ (A), (B) (O

() @ (8),(C) 3 (D)

(@ @ (4) Q) D)

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307220127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following wavelengths of electromagnetic spectrum from long to short :
(A) Radio waves

(B) Micro waves

(C) X-rays

(D) Gamma rays

Choose the correct answer from the options given below :
(1) (A),(8), (© and (D)

@ (©) () (B)and (A)

) (A)(C), D) and (B

@ (O (4) D) and (B)

Options:

1.1

2.2

3.3



4.4

Question Number : 78 Question Id : 53307220127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa fore Saea Tagn #i s #1 dat § 911 A Fared #
(A) e T

(B) H&H

(C) X

(D) T~ feRaof

i<t fau 7u foeredl & | W& T F1 =97 FIT

(1) % (A), (B), (C) R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307220128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Passes) (Location (States))
(A) Jelep-La () Jammu & Kashmir
(B) Burzil (II) Uttarakhand
(C) Bara-Lapcha-La (III) Sikkim
(D) Lipu-Lekh (IV) Himachal Pradesh

Choose the correct answer from the options given below :
(1) (A)-(I), (B)(I), (C)-(II), (D)-(IV)
(2)  (A)-(IL), (B)~(I), (O-(IV), (D)-(IT)
(3)  (A)-(D), (B)-(II), (C)-(IV), (D)-(1)
(4)  (A)-(D), (B)-(II), (O)-(1), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307220128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - 1 =1 ferd i

Tt - 1 Tl - 11
(=) ( eraftafa (o))
(A) Sg-eT () S 3R FHIHR
(B) dfsi () IEE
(C) S-S (I11) faferm
(D) fog-dm (IV) TeAT=et weel

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)(L), (B)-(I), (O)-(II), (D)-(IV)
(2) (A1), (B)-(I), (O)(IV), (D)-(IL)
(3) (A1), (B)-(LI), (C)-(IV), (D)-(1I)
4) (A)-(D), (B)-(II), (C)-(1I), (D)-(IV)

A

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307220129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are correct ?

(A) Air mass concept was developed by Vilhelm and Jacob Bjerknes

(B) Carbon dioxide theory of climate change was advanced by E.G. Boven
(C) Ice-Crystal theory was propounded by Jor Bergeron

(D) Collision - Coalescence theory was discovered by T.C. Chamberlin.
Choose the correct answer from the options given below :

(I) (B) and (D) Only

() (B)and (C) Orly
(3) (A) and (B) Only
(4) (A)and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307220129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa # & SR-%R 3 7 €7

(A) a1 Tl s faeey SR e aFg gu fosfad @ T o |

(B) SfcTey R o FHal-S5-A1ES g &1 £, de g S fohan 7 e
(C) ah-Toreeat fargia SR oo gr wieefea foram e o |

(D) Toe-gerr fagm 3.9, Swerfer g Eef T oA

A fou 0 fosredi H @ W& AT F T IO ;
(1) e (B) 3% (D)

(2) e (B) 3 ()

(3) AT (A) 8 (B)

(4) %A (A) R (Q)

Options:

1.1

2.2

3.3

4.4



Question Number : 81 Question Id : 53307220130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the Sun is verl'ically overhead along the Tmpic of Capricm‘n at midda}; ?

(I) days and nights are of equal length in the Northern Hemisphere

(2) nights are longer than days in Southern Hemisphere
(3) days and nights are of equal length at the poles

(4) night is equal to 24 hours at the North pole
Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307220130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e WeATEd H HeRt Tl % WY g4 3w 2 Al -
(1) Sl e ® feq &1 T 9Ue daE F od ©

(2)  fegor Tiresf F e oAt @ <= At ¥
(3) gai W feT 3R 7d ser ders i Adl ©
(4) I WG T U 24 S F IER Bl ©
Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307220131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rejuvenation resulting from causes that produce Worldwide lowering of sea level is known as :
(1)  Dynamic Rejuvenation

(2) Static Rejuvenation

(3)  Epeirogenic Uplift
(

4)  Eustatic Rejuvenation

Options :
1.1



2.2
3.3
4.4

Question Number : 82 Question Id : 53307220131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e WRTRTA TR o SR 21 St SR At S o GROTE 3o R e ¢ /

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307220132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of ‘Social Darwinism’ was applied by :
(1) A.V. Humboldt

(2) R. Hartshorne
(3) F. Ratzel

(4) C. Ritter
Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307220132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘grrferer erfdqae’ # sEyrn fRes g wEm § AR e o ?

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307220133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct ?

(A) Coniferous forests are located in between 50° and 70° N latitude in Northern hemisphere.

(B) Tropical forests are found in Latin America and Australia.

(C) Equatorial rain forest is also called selvas.

(D) Temperate hardwood forest is found between 30° and 50° N and S latitudes.

Choose the correct answer from the options given below :

(1) (B), (A) and (D) Only

@ () (®) (0 ad (D
(3) (A),(C) and (D) Only
(4) (B), (A)and (C) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 53307220133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefes #§ 4 08 FH TF 7

(A) TIFgef 59 50° 3R 70° S Seqre F wen S e § fom §

(B) SwmERfeadg av oifed smften iR siefemn # e o €

(C) ywea T i o &1 Year off e e ©

(D) iAo geehrs a9 30° 3R 50° 3T AR e e % e e 9w §

9 fou o fokedi § ° W ST 1 999 FHIT ;
(1) %ad (B), (A) ¥R (D)

@ (&), (B) (C) ¥R (D)

(3) @@ (A), (C) 3R (D)

(4) 99 (B), (A) #R(Q)

Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307220134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to the types of map ?

(A) Topographical maps are small scale maps which provide accurate information about a small
area.

(B) Physiographic maps are small scale hand drawn maps showing salient features of the
landscape.

(C) Cadastral maps are used for revenue purposes

(D) Navigational maps can show depth of the sea, its bottom relief and its tides and currents.
Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (A), (C) and (D) Only
() (A),(8) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 85 Question Id : 53307220134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR & AR & i frerffen § 8 208 oA T §

(A) TR FIA(! T YA o WA B & S T B & o N W W g Y A ¢

(B)  SfeeHfoe Trifer @y A a2 B s o e R & < ol o o v o e
@l

(C)  SyHufa Ao o 38w o feru S foh <7 €

(D) e wfe (Ao 9) T A TR 6 A6 o Soa SN 39 AR qd) SR
T ¢

7 feu T foered # 9 W SRR T i

(1) % (4), (B) 4R (O)

(2) A (), (C) 3 (D)

() %A (A), (C) 4R D)

(&) W (A), B) 4R D)

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307220135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is the correct sequence from Central city to Periphery of City in the Von Thunen's Restricted
Model of Agl'icultmal Land use ;

(A) Three Field Arable System

(B) Crop Farming Fallow and Pastures
(C) Firewood and Timber Production
(D) Livestock Ranching

(E) Crop Farming Without Fallow
Choose the correct answer from the options given below :
() () ©) &), O) B)

@ (@, () (B) (A) D)

() () (A) ©), ®) ©)

(4 ©) (&), &), {) [©)

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307220135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 27 % iewifem Hreet 8 e wet § TR F 0 O FHw o T A G S e
(A) T e A o

(B) R VTP, Tl 3 W

(C) ¥ o T2 TRA

(D) TR Her

(E) et % fort Y e

i few g orpenl 9 W& TR 1 A FI
M E (€ (&) ) (B)

2 (©) () (B) (4), D)
3) (), (4), (©) (), D)

) (E),
4 ©,(4), ), 6). D)

Options :
1.1
2.2
3.3

(
(
(



4.4

Question Number : 87 Question Id : 53307220136 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I
(Books/Work)
(A) Annals de geographie
(B
(C
(

e

Political geography

Theory of Heavens

EH—-

Description regni Lapcmiae et sian

List - II
(Geographers/Scholars)
(I)  Immanuel Kant
(Il)  Varenius
(Ill) La Blache
(IV) E. Ratzel

Choose the correct answer from the options g'wen below :

(1) (A, (BR(IV), (©)-(L), (D))
(2) (A, (B)(IV), (CH(I), (D))
(3)  (A)HD), (B)-(L), (©)-(I), (D)-(IV)
@) (AHIV), (B, (C)-(1), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307220136 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



gt - 13 919 et - 1 %1 e sife
it - 1 et - 10
(s / kT ) ( ymrerers / fagr)
(A) T T e (I) 3HASA Hie
(B) Hifcifeswal fSramms (I) aRFAI"
(C) oAl A Ty () &1 =l
(D) ESfEpwM Tl adif=eTE T2 s (IV) T, 9
e fou U fasredl W 9 W& I 1 T FINT
(1) (AHD), By-(IV), (C)-(I), (D)-(I)

(2) (AT, (B)«IV), (O)~(D), (D)-(II)
(3) (A1), (B)-(I), (CO)«(Im), (D)-(IV)
(4)  (A)HIV), (B)-(1T), (C)-(T), (D)-(IM)
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307220137 Question Type : MCQ Option Shuffling : No

C

orrect Marks : 2 Wrong Marks : 0

All of the [U]lnwing types of climate occur n the Southern hemjsphere except :

(

(
(
(

1) Hot Desert
2) Tundra

3) Equatorial
Y

Savana

Options:

1.
2.
3.
4,

Question Number : 88 Question Id : 53307220137 Question Type : MCQ Option Shuffling : No

C

1
2
3
4

orrect Marks : 2 Wrong Marks : 0



3 e i 3 it YRR 1 e et e E R

(1) T FEw
@

(3) o
(4) W
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307220138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Loess consists of fine rock particles which -
(1)  result from the weathering of limestone rocks
2) are deposited by waves along arid coastlines

(
(3) are often deposited on the flood plains of large river valleys
(

4)  frequently occur in regions adjacent to deserts which lie under winds blowing from the
deserts

Options:
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307220138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wireg weH S F | o E W |

(1) T WeeR STt o STem@m 1 9o §

(2) I T & e ol g fdfe E §

(3) foreme & mfeal % are fewi § W Féfiw forg o €

(4) e § Falfed e aTel a1g o e WeRal b WHITE &R W rE: 9 S §
Options :

1.1



2.2
3.3
4.4

Question Number : 90 Question Id : 53307220139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 'IDEA-AREA’ chain features in which of the following Theory/concept ?
(1)  Unified Field Theory

(2) Functional Approach
(3) Organic Theory of State
(4)

4)  Political Systems Analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307220139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefan & @ fog fogi) smsmon & ' smefen-ufen’ (IDEA-AREA) §aen wiwfid 2 &7
1) g & fagr

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307220140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the given cities in ascending order according to their population in 2011 census :
(A) Ahmedabad

(B) Pune

(C) Hyderabad

(D) Bangalore

Choose the correct answer from the options given below :

() ®), (4), D) C

@ ®), ), ) (D)
() (A) ®), (©) (D)
@) ®), (©) D) (A
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307220140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fed T wiEd 1 2011 1t SR IR TG % STTOR 9 gu 9 H i #
(A) HEHEER

B)

(C) &R

(D) ST

A feu T foredi # 9 WE A F I HIOC ;

(1) (B), (A) (D), ©)

Question Number : 92 Question Id : 53307220141 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which of the following is the most important factor for the location of Perishable goods ?
) Transport
) Raw Material
) Fuel & Power
) Markets
Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 53307220141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T2 B 91 G 1 et & gay 1 frefafga § 9 36 91 9 Teeyy FReE § 7
(1) UREed

(2) = HIA
(3) T o form
(4) SRR
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307220142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following satellites in chronological order on the basis of their year of launch :
(A) INSAT 2C

(B) SROSS -2

(C) Rohini RS -1

(D) 1RS-1D

Choose the correct answer from the options given below :

) ®), D) C, A
) (

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307220142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas deamgel 1 37k J4TU & 99 % TR R FAEY H rafer #
(A) 392 240

(B) UH.IR.3.UH.UH. -2

(C) fevft &R, TH.—1

(D) 13RUH. -1

A feu T forpedi § | WE SO T 0 ;

(1) (), (D), (), (A)

Question Number : 94 Question Id : 53307220143 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which geographical technique is used to study the proportion of any characteristics in an area in
relation to its propottion in the region ?

(1) Combinational Analysis

) Location Quotient

) Network Analysis
)

Near Neighbourhood Analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307220143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T &3 ¥ Terelt SAfirreqon o SR 1 30 ST o S0 o §aY H e o e 3 off S e
VT Farier -4 ¢/

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307220144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with regard to the types of Aerial Photographs ?

(A) Vertical photographs are also known as ‘Air Verticals'.

(B) Oblique photographs provide field information and present a bird's eye view.

(C) Terrestrial photographs are useful for small scale maps, when obstacles hide the details of an
area.

(D)  Aerial photograph suffers from distortion in scale due to presence of tilt or local relief.

(E) Ground photographs are most important for photo interpretation and mapping of the area.

Choose the correct answer from the options given below :

() (A), (B) and (D) Only

(2) (A), (D) and (E) Only

(3) (C), D) and (E) Only

(4)  (A), (B) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307220144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ufel PIRRTE F TR % Tael § 3 ¥ FH e &7

(A) SR WEIEE P SR a1 off S 5 2

(B) T W &3 1 Yo e ol g% G B

(C) I BRTRH Bi HIrm % ford I9AmI ¢ 5 ferwi & o foraror &y a1 @ 21|
(D) TREA PRAUTEY T e #1 39l § 3@ & Fro foreuw fomm & |

(E) Torelt & o e iR ) Feeres ¥ Wt PioTRY 9gd W@ ¢ |

%ﬁqwﬁm’fﬁﬁﬁé‘mmwﬁm:
(1) % (A), (B) 4R (D)

2 W{AL (D) 4R (E)

(3) ¥ (), (D) 4T (E)

(4) W (A), (B) M (E)

Options :

1.1

2.2



3.3
4.4

Question Number : 96 Question Id : 53307220145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Super heated water thrown out with great force and accompanied by steam is known as ?
(1) Hot spring

(2) Magma
(3)  Geysers
4

4)  Pyroclast

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307220145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STl 9 % Y g TH O e o9 WY e S HElTl € |
1) T g

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307220146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Concept) (Meaning)
(A) Pays (I)  Regional
(B) Ideographic (II)  Living space
(C) Lebensraum (ITI) Regional units
(D) Milieu (IV) Surroundings

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(I), (O)-(II), (D)-(IV)
(2)  (A)-(D), (B)-(I), (O)-(1V), (D)-(II)
(3)  (A)-(D), (B)-(II), (C)~(I), (D)-(IV)
(4)  (A)-(IV), (B)(IIL), (C)~(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307220146 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 Gt - I =1 e i

et -1 et - 11

( HeredHT ) ( atef )
(A) W () &
(B) smsfeamres (wmEfesm) (I)  T& 1 TIF
(C) Te=ERT3H (1) &= AR
(D) el %1 e (IV) = 3

A= fou 7o fasredi § ¥ W8 SO & 994 e
(1) (A)-(II), (B)-(I), (O)-(II), (D)-(IV)
(2) (A1), (B)-(1), (CO)-(1V), (D)-(I)
(3) (A1), (By-(II), (O)(111), (D)-(1V)
4) (A)-(IV), (B)~(I), (O)~(1D), (D)-(L)

Options :
1.1



2.2
3.3
4.4

Question Number : 98 Question Id : 53307220147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year "The water (prevention and control of pollution) Act’ was introduced ?
(1) 1974

(2) 1975
(3) 1971
(4) 1978
Options :
1.1

2.2

3.3

4.4

Question Number : 98 Question Id : 53307220147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFg o4 H Sio1 (USUl okl UkATH TS FHas0r) SAfafay ary g1 ?
(1) 1974
(2) 1975
(3) 1971
(4) 1978

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307220148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following coastal plains in India in descending order according to their
length (kms) :

(A) Karnataka plain

(B) Kerala plain

(C) Utkal plain

(D) Tamil Nadu plain

Choose the correct answer from the options given below :

() (D), (B), (C) and ()

(2 (B), (D) (A) and (C)

() (©, (D) (B) and (A)
(4)  (A), (B), (C) and (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 53307220148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR F TR q2 A I TRk Hed FATTHR Safked Hife
(A) ATEH F HEM

(B) A F HgH

(C) TUFA F HaHA

(D) dfierg & HeH

= e o foeredi #§ | W@ SO 1 =HH FC

(1) (D), (B), () ¥R (A)
(2 (B), (D), (A) 3R (C)
(3)  (C), (D), (B) ¥R (A)
(4)  (A), (B), (O) R (D)
Options :

1.1

2.2

3.3

4.4



Question Number : 100 Question Id : 53307220149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is identified as the Father of ‘Chinese Cartography” ?

(1) Mengtzu

(2) Phei Hsiu

(3) Chang Heng
(4) Chang Chien
Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307220149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I =T "o’ & 59 6 ®Y W S ST e ?
(1) ey
(2) TR T
(3) ETE
(4) =R
Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 53307220150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Town) (Resource)
(A) Kalgoorlie (I) Bauxite
(B) Norilsk (II) Gold
(C) Singhbhum (IIT)  Nickel
(D) Hurricane Greek (IV) Iron ore

Choose the correct answer from the options given below :
(1)  (A)-(10), (B)-(I1D), (C)-(1), (D)-(IV)
(2)  (A)-(D), (B)~(I), (O)-(1D), (D)-(IV)
(3) (A1), (B)-(l1), (C)-(IV), (D)-(I)
(4)  (A)-(IV), (B)(ID), (O)-(I), (D)~(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307220150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - I =1 e Hifs

it - 1 et - 10
( 9T&T) ( 9wz )
(A) HTered il
(B) Hifce® Iy e
(C) TH&ym (1) e
(D) =R Uik (IV) g 3T9%h

A= fou 7o fasredi § ¥ W8 SO & 994 e
() (AL, (B)-(I1), (©)-(I), (D)-(1V)

(2) (A, (B)~(I), (C)-(1I), (D)-(IV)

(3) (A)1D), (B)-(ID), (O)-IV), (D)-(I)

(4)  (A)-IV), (B)-(1D), (C)-(I), (D)-(II)

Options :

1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 53307220151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which census year of India recorded the decline in demsil}r of Pnpulatinn ?

(1) 1911
(2) 1931
(3) 1921
(4) 1951
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307220151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gRd ¥ forg b o SHYE sF e Sl € @ srfierfEa foen man ?
(1) S

{2} 1931

(3) 1921

(4) 1951

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307220152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Climate) (City)
(A) Equatorial (I) Barrow point
(B) Tundra (II)  Beijing
(C) Cool temperate interior (IlT) Singapore

(D) Cool temperate eastern margin  (IV) Moscow
Choose the correct answer from the options given below :
(1) (A1), (B)-(I), (C)-II), (D)-(IV)

(2)  (A)-(D), (B)~(I), (O)-(IV), (D)-(1I)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-IV), (B)-(II), (O)-(10), (D)-(L)

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307220152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - I =1 e Hifs

it -1 gt - 11

(Searg) ( ITET)
(A) e () IR
(B) T (I s
(C) ¥ifa iraren s (111)  fETgR
(D) 9ifa Sfrdreo geff (IV) HEH

A= fou 7o fasredi § ¥ W8 SO & 994 e
(1) (A)D), (B)-(I), (C)-(I), (D)-(IV)

(2) (A)-(ID), (B)~(I), (C)-(IV), (D)-(I)

(3) (A1), (B)-(D), (©O)-0), (D)-(IV)

(4)  (A)-IV), (B)-(1L), (O)-(1L), (D)-(D)

Options :

1.1



2.2
3.3
4.4

Question Number : 104 Question Id : 53307220153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The gravity model in regional geography is used to :
(A) Measure the impact of new towns

(B) Forecast the flow of goods and services

(C) Assess the rate of migration

(D) To predict future traffic flows

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only

(3) (A), (©) and (D) Only

(4) (A), (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 104 Question Id : 53307220153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& el W e Hied fom & ford v ® o i € 2
(A) 8 FEI F JHE I HGT

(B) TGl TR HelAl o YaTg &1 JaigH

(C) Warg hi &L 1 IHE

(D) 4fa= % AramEE Jarel $1 gaigHE

= feu Tu foshedi H € Wal SO okl 997 HifaU :

(1) = (A), (B) 3R (D)

(2) e (B), (C) 3 (D)
(3) HFA (A), (C) 3T (D)
(4) 9 (A), (B) &R (C)



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[nfant Mortality Rate (IMR) is calculated by the formula IMR = 5 x1000. In this formula B,
i
stands for :

(1) Number of Total Births

(2) Number of Live Births

(3) Total Number of Births in Mid-year

(4)  Total Number of Live Births in Mid-year

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forey o 0 il O (ST TR, = % X 1000) & =1 S & 76 99 ¥ B, Zfa &7

1

(1) S = FeA

(2) ifaa =i gem

(3) U WA W A T H A

(4) o9 F WA W Fed Siifed T H ] GE@A
Options :

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 53307220155 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IL

List -1 List - 11
(Name of Local Wind) (Region)
(A) Santa Ana () Very warm and dry wind on the eastern slopes of Rocky
Mountains
(B) Sirocco (I) Hotand southerly wind that blows in Egypt in spring time
(€) Khamsin () Warmand dry local wind that occurs in the United States
of America
(D) Chinook (IV) Hot, dry and dusty winds blowing from Sahara Desert

Choose the correct answer from the options given below :
(1) (A)-1V), (B}1), C)(I), (DHI)

(2) (A, (B)-(1V), (CH), D))

(3) (A, (BT, (©)-(1v), (D)-(1)

(4)  (AHIV), (B)-(I), (CH), (D}(I)

Options:

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307220155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 1% 919 T - 11 3 e hifere

T -1 T -1
(TSI S A ) (&)

(A) Hrt () T T % T g R g & T A I 7
@) fam () s g firer 2 et ol e efeoh
(C) B (D) e T o o T iR S I g

(D) for® (IV) TR W ¥ o el T, I 3R e o g
A few o fomredt o @ W@ R H T FC

(1) (A)-IV), (B0, (), (D)-(Im)

(2) (A){Um), (BHLV), (CHI, (D)-()

(3)  (A)(Im), (BHI), (C-(IV), (D)-([)

(4)  (A)-(IV), (B, (CHD), (D))



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307220156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the given layers of atmosphere in ascending order :

(A) Stratosphere

(B) Exosphere

(C) Troposphere

(D) Mesosphere

(E) lonosphere

Choose the correct answer from the options given below :

1) (©, (A), D) (B) (B)

2  (©), (A), (D), (B), (E)
(3)  (A)(©), (B), (D), (E)
(4) (A), (O), (B), (B), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307220156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AHEE I & TE Al I SR A H HafeeT wife
(A) HHATIHSH

(B) wfeHed
(C) afvHsd
(D) WHEHEA

(E) EAHSA

A9 feu T foepedi W € HEH 0ged I F T4 HIfO ;
(1) (©), (A), (D), (E), (B)

(2)  (©), (A), (D), (B), (E)

(3) (A) (©), (B), (D), (E)

4) (A), (©), (B), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Wegner one big continent known as Pangea existed during which of the following
geological period ?

(1) Cretaceous

(2) Triassic

(3) Cambrian

(

4)  Carboniferous

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W%WWWWEﬁW(Pallgea)%rﬂmﬁﬁﬂlﬁﬁ]%ﬁﬁmf@ﬁﬂﬂﬁﬂ@[‘ﬁfﬂﬁﬁﬁ
e | fer ¢ 7

(1) e
Q) e
(3) WA
W e

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Name of Tropical Cyclones) (Area)
(A) Hurricane ()  Western North Pacific
(B)  Willy-Willy (IT)  Phillippine Islands
(C) Typhoons (III) North Atlantic
( Baguio (IV) Australia

Choose the correct answer from the options given below :
(1) (AHIV), (B)(ID), (C)-(I), (D)-(I)
(2)  (A)-(II), (B)-(IV), (O)-(D), (D)-(II)
(3) (A)-(Im), (B)-(I), (O-(IV), (D)-(IN)
(4) (A)-(IV), (B)-(I), (C)-(IIT), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gl - 13 919 =it - 11 1 fier it
et - 1 et - 11
( FoTeRfEareftr TeRaT T TH) (&)

(A) =R () afe=e 3 W
(B) fafa-fafa (I fwerdE g
(C) ZTEEA (II) 3T 3feifesm
(D) @RI (1v) smeferan

= feu o faedi § ¥ 9@ 39 1 999 FI9
(1)  (A)(IV), (B)A(1I), (O)-(I), (D)~(1LL)
(2) (A)-(I), (B)~(IV), (CO)~(L), (D)~(IL)
(3) (A1), (B)~(D), (O-(1V), (D)~(ID)
(4)  (A)-(IV), (B)AI), (C)-(LI), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307220159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which group among the following claimed that granite was of igneous origin ?
(1) Plutonists

(2) Neptunists
(3) Gremlins
(4) French
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307220159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



=1 & 4 = | T < w5 © fF e ST e o e ?

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307220160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fﬂllﬂwiﬂg Trenches of Pacitic ocean from North to South :
(A) Kermadec Trench

(B) Tonga Trench

(C) Kurile Trench

(D) Philippines Trench

Choose the correct answer from the options given below :

(1) (©), (A), (B) and (D)

(2) (), (A), (D) and (B)
(3)  (C), (D), (B) and (A)
4) (©), (D), (A) and (B)
Options:

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 53307220160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YT HETR 1 @I5dl &1 3t H SIE101 i T/ Had FifaT ;

(A) FTOTSF FI TR
(B) =i =i
(C) FaA F WEE
(D) Tweifag =1 @R
I feu U fasredi § 9 W& SO 1 =99 FIf9U
(1) (), (A), (B) 3R (D)
2 (O, (A), (D) 3R (B)
(3) (C), (D), (B) 3R (A)
4)  (©), (D), (A) =R (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307220161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which perspective in geography is also known as ‘empiricism’ ?

(I) Behaviouralism
(2) Humanism
(3) Pragmatism
(4) Positivism
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307220161 Question Type : MCQ Option Shuffling : No



el § A § uftdes #1  egaaare’ F A § off S S €2

(1) =FdeldEs

(2) HHAGCMERE

(3) wERHaTE (HTHiEH)
(4) WAdAE

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307220162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Seaports) (Country)
(A) Busan (I) China
(B) Tianjin (II) USA
(C) Rotterdam (III) South Korea
(D) Houston (IV) Neitherlands

Choose the correct answer from the options giv en below :

(1) (A)-(), (B)-(1), (C-(1V), (D)-(1)

(2)  (A)-(I), (B)-(LI), (O)-(ID), (D)-(IV)
(3)  (A)-D), (B)-(II), (O)~(IL), (D)-(IV)
(4)  (A)-(IV), (B)-(D), (C)-(II), (D)-(III)
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307220162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T - 1 919 it - 1 =1 fierd i

Tl - 1 T - 11
(T T=E ) (g9r)
(A) R O =H
(B) Tfoamfsm () FUET,
(C) TEW (II1)  <fapor =RTfEan
(D) = (IV) weteie

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A)(I), (B)(I), (O)(IV), (D)~(IL)
(2)  (AD, (B)-(II), (C)-(II), (D)-(IV)
(3) (A, (B}-(ID), (O)(111), (D)-(1V)
4)  (A)-(IV), (B)~(D), (C)-(L), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307220163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Revolution) (Related to)
(A) Grey Revolution (I) Jute
(B) Silver Revolution (I)y Oil seeds
(C) Golden Fibre Revolution (I) Fertilizer
(D) Yellow Revolution (IV) Poultry

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(D), (C)-(IL), (D)-~(11IT)
(2)  (A)-(IL), (B)-(IV), (C)~(I), (D)-(IT)
(3)  (A)-IV), (B)-(1D), (C)-(I), (D)~(1LI)
(4) (A, (B)-(I), (O)-(L), (D)-(IV)

Options :
1.1



2.2
3.3
4.4

Question Number : 114 Question Id : 53307220163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - I =1 e Hifs

et -1 et - 11
(ehrf=r) ( Haifera )
(A) B-wIf O e
(B) faerer wif< (I faered
(C) TeTed Hgar shif< (IIT) 3oF
(D) el i< (IV) Hidre

= feu o fasedi § 9 WE S & 999 FI9T
(1)  (A)-IV), (B)~(I), (C)-(II), (D)~(11)
(2) (A1), (B)~(IV), (C)~(D), (D)-(IT)
(3)  (A)-(IV), (B)~(IT), (O)-(1), (D)~(11D)
4) (A1), (B)-(I), (C)-(1I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307220164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Landuse pattern of India in decreasing order :
(A) Fallow Land

(B) Forested Area

(C) Culturable Waste Land

(D) Permanent Pastures

Choose the correct answer from the npticms given below :

(1) (B), (A), (C) and (D)

(3) (A), (B), (D) and (C)
(3)  (B), (A), (D) and (C)
(4)  (A) (B), (C) and (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 53307220164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA & T 4ff 39 9faey &l sfefiel e § Aaferd Hifau
(A) ol fw

(B) A &=

(C) Ffw A S yfH

(D) TIE =NTE

== Teu 7T forkedi # € W& IO Il =TI HifIQ
(1) (B), (A), (C) ¥R (D)

@) (A), (B), (D) 3R (O)

(3) (B), (A), (D) ¥R (O)

4)  (A), (B), (O ¥R (D)

Options:

1.1

2.2

3.3
4.4



Question Number : 116 Question Id : 53307220165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of cyclone destruction is called :

(1) Cyclogenesis

(2) Frontolysis
(3) Frontogenesis
(4) Cyclolysis
Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307220165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tehard faam 1 9feran Feard € -
(1) =ThardsTH
(2)  =ramafer
(3) SIS
(4)  =TReTd AT
Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307220166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Name the Instruments used to measure the atmospheric pressure :
(A) Microbarograph

(B) Micro-barovariograph

(C) Mercurial Barometer

(D) Android Barometer

(E) Altimeter

Choose the correct answer from the options given below :
(1) (A), (O and (D) Only

(@ (A), (B) (D)and (E) Only

(3) (A), (B), (O) and (D) Only

(4) (A), (B), (C) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307220166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AHSAT 9 Rl A STl T AH @
(A) GeHaEE@cE!
(B) THIEEh! SRS
WHEINTA SHE
(D) TS s
(E) qirammdl (o)
= feu T faspedi § © W S & 999 Hie
(1) 9 (A), (C) 3R (D)

(2) Ed (A), (B), (D) 3R (E)
(3) e (A), (B), (C) 3R (D)
(4) 9 (A), (B), (O) 3R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 118 Question Id : 53307220167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a cold ocean current ?
(1) Mozambique Current
) Kurushio Current
(3) West Wind Drift
)

East Australia Current

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307220167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 o O 9 9 S TeErg Ui § 2
(1) HrsiieeR 9

(2) FWR U

(3) U 999 aE

(4) Yo sferan um

Options:

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307220168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of forest is found along the Western side of Western Ghat ?
(1) Tropical Wet Evergreen

(2) Tropical Semi Evergreen

(3) Tropical Moist Deciduous

(4) Tropical Dry Deciduous



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307220168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ufyerdt w12 % ufem forR o forg wepr & a9 a5 2 2
(1) SR o1 R

2) IOERCEHE 3E FaEeR

3) SOERfIE A STE o

) IUERfCEHE IR TN

Options :

1.1

2.2

3.3
4.4

— —

(4

Question Number : 120 Question Id : 53307220169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the fDllowing statements regarding migration and choose the correct one :

(A) Movements of population that involve only temporary settlement is called periodic or seasonal
migration

(B) Transhumance is an example of seasonal migration

(C) Push factors encourages immigration

(D) Pull factors encourage emigration

(E)  Daily migration is a movement for short duration say, a number of hours

Choose the correct answer from the options given below :

(I) (A), (B)and (C) Only

) (B) (0 and (D) Only

(3) (C), D) and (E) Only

() (), (8)and (B) Orly

Options :

1.1

2.2



3.3
4.4

Question Number : 120 Question Id : 53307220169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

VT o T ol 1 A H T U e A 9 A

(A) STeTE) 1 Vo for Shret oS S Feifcr ¢ ST e A Yo e ¢
(B) i YA FIGH! YA W T R €|

(C) ifaeel 52 ST i Wieed 4 & |

(D) SFE 7ok IHaH I TIHed F |

(E) < Yoy edray o T 9 Hal o ford foeer & |

9 fou g feered] # 4 T S A 79 FC

(1) e (4), (B) & (C)
(2) %@ (B), (C) &R (D)
(3) e (), (D) N (E)
(4) % (4), (B) I (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 53307220170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following water bodies in their decreasing order of salinity :
(A) Red sea

(B) Mediterranean

(C) Gulf of Karabugas

(D) Black Sea

Choose the correct answer from the ﬂpl’i[‘.!I'IS given below :

() (A) (B), (C) and (D)

(2 (©), (A) (B) and (D)
() (B), () (D) and (A)
4)  (A)(©), (B) and (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307220170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freAfeifiea STemeEi 1 3R TauIdT % SER STee HH § Safd Fifa
(A) @ TR

(B) YH¥ WX

(C) T FI &
(D) hTET E

r fou o foedl d © W ST 1 F99 FT ;
(1) (A), (B), (O ¥R (D)
2 (C), (A), (B) ¥R (D)
(3) (B), (O, (D) ¥R (A)
(4) (A), (), (B) ¥R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307220171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is the largest physiographic unit of India ?
(1) Peninsular plateau

(2) The Himalayan Mountain

(3) The Great Plain of North India

(4) The Coastal Plains

Options :
1.1
2.2



3.3
4.4

Question Number : 122 Question Id : 53307220171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga & @ wra #i ga8 o< yeFias sHE Fib 9 82
(1) YHEEYE 981

2) Tewrem weld

) W URA 1 e HeH

(4) TG HSH

Options :

1.1

2.2

3.3
4.4

—

-
o

—

Question Number : 123 Question Id : 53307220172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is Viticulture ?

(1) Vegetable Cultivation
(2) Apple Cultivation
(3) Grape Cultivation

(4) Silk Farming

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 53307220172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307220173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard fo re]iginus composition in India?

(A) The early pre-vedic Hindu religion get modified in the vedic period after the middle of the
second millennium B.C.

(B) The Christians are an enterprising race and are scattered in almost all parts of the country.

(C) The large population of Buddhists in Maharashtra is due to wholesome conversion from
lower caste groups.

(D) During decade 1981-91, the Muslim community witnessed the highest growth rate recorded
by any religious community.

(E)  The Jains are the community of industrious people mostly engaged in business.

Choose the correct answer from the options given below :

() (A),(C) and (E) Only

2) (B), (C) and (D) Only

3)  (C), (D) and (E) Only

@ |
G ©
(4 (4),(8)and (D) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 53307220173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 3 enfeer e o gy freifefs © 9 99 9 PR W8

(A) RV Vol B fog o7 R Wedec $91 Tl o e 9 TG Sifee el § Ao g

(B) %S ek e At € i S 3 e el o o e g 21

(C) T ¥ o) 1 9 ) v S W W e o W €|

(D) 198191 % B¥RF S it WM A g TR off wiier e g < o Afg
T 4|

() % Sl T o T & T T A o g R

A feu T ot W § W& S 1 9

1) W(A)()-ﬁw

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307220174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fﬂllowing district 1s known as ’Granary of Odisha’ ?
(1) Keonjhar

(2) Kalahandi
(3) Baliapal
(4) Sambalpur
Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307220174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea o § 1 o foen <@ &1 2myer’ % ®9 T §H 1§ ?
(1) FER

(2) |
3)
(4)

Options :
1.1
2.2
3.3
4.4

——

FIeTeie!
AT
GrareTq{

Question Number : 126 Question Id : 53307220175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the direction of energy flow in the ecosystem ?
(1) Bi-directional

(2) Tri-directional

(3) Unidirectional

(4) Multi-directional

Options:
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307220175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iftfEafasht o H el Yo ki foun &= & 2
(1) fg-feumeres
(2) T-feumers
(3) UH-TIHR
(4) wg-Tg9meHe
Options :
1.1

2.2



3.3
4.4

Question Number : 127 Question Id : 53307220176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following methods of fishing are correct ?
(A) Seining

(B) Drifting

(C) Sealing

(D) Trawling

(E) Herring

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (E) Only

(2) (A), (B) and (D) Only
(3) (A), (C) and (E) Only
(4) (A), (B) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 53307220176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafes § | woeh Tes #1 & o fafmr @& 22
(A) EifHT

®) feu
(C) ifefm
(D) 2feT

a

E) =

4 few o faeredl ® 9 W@ I %1 59 T
(1) %9 (A), (B), (C) 3R (E)

(2) e (A), (B) R (D)

(3) FAA (A), (C) IR (E)

(4) I (A), (B) 3T (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307220177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When was the first synchronous census covering the entire country and prwiding vital demographic
data conducted in India ?

(1) 1872
(2) 1881
(3) 1891
(4) 1871
Options:
1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 53307220177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TRl qeTcrds ST S W el g off For <o 1 eyl e SRS S 0 T 7
(1) 1872
(2) 1881
(3) 1891
(4) 1871
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307220178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to 2011 Census of India, how many Metropolitan cities are in India ?
(1) 52

)
) 53
) 50
Options:
1.1
2.2

3.3
4.4

Question Number : 129 Question Id : 53307220178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2011 T ST F TR 9a § fofen mermr € 2

(1) 52
2} 3l
{3} B3
(4) 50
Options :
1.1
2.2

3.3



4.4

Question Number : 130 Question Id : 53307220179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the clouds in ascending order according to their heights :
(A) Cumulus

(B) Alto - Cumulus

(C) Cirro - Stratus

(D) Cirro - Cumulus

Choose the correct answer from the ﬂpl‘inns given below :

(1) (A), D) (B), (©

2) (B, (A) (D) (©
@) (A) (B), (D), ()
4) (B) (D) (A) ©
Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 53307220179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGl Tl ST o SATHR SRS A T HafEed Hoe ;
(A) oI

(B) WA U

(C) w&my-Td

(D) T&mY-FITE

= fou Tu fowedi § 9 W& SO & 999 FHie

(1) (A), (D). (B), (©

(2)  (B), (A), (D), (©)
(3) (A) (B), (D), (C)
4) (B), (D), (A) (©
Options:
1.1

2.2



3.3
4.4

Question Number : 131 Question Id : 53307220180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lake Toba which 1s a good example of Caldera, is Situated in which of the following country ?
(1) USA

(2) Ity

(3) Indonesia

(4) Iceland

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307220180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 2iel S ST e 9 o=l 3Ee § fFu ev H fea 2
(1) FJTET

(2) s
(3) SEHEE
(4) STMEECTS
Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 53307220181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which tribe is the largest tribe out of seven major tribes found in India ?

(1) Bhils
(2) Santhals
(3) Gonds
(4) Khonds
Options :
1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 53307220181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR 1 AT g SHefE § § i O Sl Ge 9 SHefd € 2
(1)
2)
3)
)

——

(4

Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307220182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Country) (Main Produces)
(A) Afghanistan ()  Rubber
(B) Brazil (II) Coco
(C) Ghana (IIT) Coffee
(D) Malaysia (IV) Dry and Fresh Fruits

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©O)-IV), (D)-()

(2)  (A)(IV), (B)(I1D), (O)-(I1D), (D)-(I)
(3)  (A)-(IV), (B)(IIL), (C)-(11), (D)-(T)
(4) (A)-(IV), (B)-(D), (C)-(IT), (D)-(1IT)
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307220182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 15 919 it - I =1 e Hifs

Tt - 1 Tt - 11
(g9r) (9" 34g )
(A) AFMEE () T
(B) ISirel (I) =TT
(C) =T (III) HTH
(D) HARE (IV) §d 7e 3R a5 wedl

= feu 7o fasredi § 9 |8 SO 1 =94 6T
(1) (A)-(I), (B)-(1), (©)-(IV), (D)-(D)

(2)  (A)(1V), (B)-(II), (O)-(11D), (D)-(T)

(3)  (A)IV), (B)~(II), (CO)-(II), (D)-(I)

(4)  (A)-IV), (B)-(I), (C)-(II), (D)-(II)

Options :

1.1



2.2
3.3
4.4

Question Number : 134 Question Id : 53307220183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following are the Roman Geographers ?
(A) Ptolemy

(B) Anaximander

(C) Munster

(D) Posidonius

(E) Cluverius

Choose the correct answer from the options given below :
(1) (B), (D) and (E) Only

(2 (B), (C) and (D) Only

(3) (A), (C) and (E) Only

(4 (A), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307220183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafga § ¥ ®F I99 Jieed © |
(A) el

(B) UAHTHE

(C) WI=H

(D) TiHTEEY

(E) AT

A feu Ty ferpedi ® 9 @@ ST 1 =T HIf
(1) % (B), (D) #R (E)

(2) = (B), (C) #iR (D)

(3) E (A), (C) 3R (E)

(4) FFA (A), (D) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 53307220184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fnlluwmg cities 1s NOT a historic capital ?

(I) Tokyo
(2) Beijing
(3) Rome
(4) Paris
Options:

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 53307220184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafead § | 9 |1 et Uderias TS 7@ € 7

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307220185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct with regard to ethnic composition in India ?
(A) The earliest occupants of India were the people of Negrito race.

(B)  The tribes of Garo, Khas, Jaintia, Lipchas, Murnis etc. belong to the Mongoloid race.

(C) The Dravidians are believed to be the bearers of the earliest form of Hinduism into India.
(D) Coorgis and parsis are representatives of Brachycephals group of races in India.

(E)  The Nordics constitute the first wave of migration into India.

Choose the most appropriate answer from the options given below :

(1) (A),(B)and (D) Only

(2) (C), (D)and (E) Only

(3) (A),(C)and (E) Only

4 (®) (C) and (D) Only

Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307220185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfed Fomi § | 9IRG I TG 92T F I H B Y FUH WE €2
(A) 9Rd H HA9gH sTegrardt fiel genfd o @ o

(B) T, wrett, Sifean, feren, wHt anfe swenfaar wiferam geifa =1 €1
(C) 9Nd ¥ gfael &1 fege & TRt W&y 1 desh 7l Sl & |
(D) I IR URE yRd H S ifThfeE 9ge & gfaffy €

(E) Sk 9YRd H JaTeH 1 Teall oled & F19e ¢ |

= feu 1 foredi § 9 W& 39 & 999 FHf0
(1) % (A), (B) ¥R (D)

(2) e (C), (D) 3R (E)

(3) A (A), (O R (E)

(4) %A (B), (C) 3R (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 53307220186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a Financial Centre ?
(1) Zurich, Switzerland

(2) Amsterdam, Netherlands

(3) Detroit, United States of America
(4) Mumbai, India

Options:

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 53307220186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefea & | M @1 faxia &= 78 &2

(1) gk, feestds

(2) THEH, AT

(3) S, HYH TH FHITEH
(4) T, 9IRA

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 53307220187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following rivers from West to East :

(A) Ganga

(B) Gomht

(C) Yamuna

(D) Ghaghara

Choose the correct answer from the options given below :
(1) (O, (A), (B) and (D)

(2 (A), (C), (B) and (D)

(3) (O, (A), (D) and (B)

(4) (A), (C), (D) and (B)

Options:

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 53307220187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefaa feei # ofvem 1@ #7 3iv srafoer Fifm
(A)

(B) e

(C) I

(D) SR

= Tou U fashedi ® © Wal SO ol 997 HifaU
(1)  (©), (A), (B) SR (D)

@ (A), (Q), (B) ¥R (D)

(3) (O, (A), (D) ¥R (B)

4 (A), (O), (D) 3R (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 53307220188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II

(Data Representation) Best Suitable Method)
(A) Population Density
(B

(

(I)  Pie-Diagram
Population Distribution (I) Line Graph

() Choropleth

)
) Trends in Agricultural Production
) Demographic Composition of Population ~ (IV) Dot method

(€
(D
Choose the correct answer from the options given below :
(1) (AHID, B)-{IV), (C)-(I), (D)IM)
(2 (AHIV), (B)-(L), (O, (D)-(0)
(3)  (A)-(), (B-(IV), (CH1I), (D)-()
(4)  (A)HI), (B)-(IV), (C)-(1), (D)-(I)
Options :

1.1

2.2

3.3



4.4

Question Number : 139 Question Id : 53307220188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eIl - 1 919 it - 11 1 e Fafe

et - 1 et - 11

( 3RS hT WAfAehTOT ) ( wattaa fafar)
(A) SHEE S () Fa-NE
(B) SHEEA fadtm (I) @& TF
(C) iy Ieqre =t yafd (¥4) (II1) SOmETEHt

(D) SHEEA &1 SHEIEEE §arem (1IV) fag faf4
= feu U fasedi § ¥ @ I N =99 HifGT

() (A1), (B)-(IV), (O)-(), (D)-(I)

(2)  (A)-IV), (B)-(IIT), (O)-(II), (D)-(L)

) )
(3)  (A)-(Im), (B)-(IV), (O, (D)-(D)
(4) (A, (B)-(1V), (O)-(1), (D)-(ID)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307220189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A Circular Coral Reef which encloses a lagnﬂn 1S :
(1) Barrier Reef

(2) Great Reef
(3) Atoll

(4) Fringing Reef
Options:

1.1

2.2

3.3

4.4



Question Number : 140 Question Id : 53307220189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1)  waret e
(2) el gerafard (32 %)
(3) WATAETEC
(4) A garafi
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072789
Question Shuffling Allowed : No

Question Id : 53307220190 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the questions,

Of all economic activities, it can be argued that agriculture is the most important. It engages two
thirds of the world's population and supplies the primary products essential for life. Food stuffs such as
cereals, vegetables, fruits, meat and dairy produce are provided; beverages like tea, coffee and cocoa;
and industrial raw materials like rubber, vegetable ols, cotton, wool and hides,

Agnculturt-' underlies many other activities in the human environment and is influenced by
population characteristics as well as by the physical environment; it determines social and economic
changes in human behaviour,

Farming goes back a long way butnot to the dawn of history. [n earliest time man neither cultivated
the land nor bred animals. He lived in and entirely on the bounty of nature. Farming as we know
started when man learnt to tame the natural environment. Yet agriculture, where it has developed, has
not appeared uniformly in character. For many human and physical reasons, different types of farming
have evolved for exp. arable & pastoral shifting, subsistence, commercial, intensive and extensive
agriculture,

Agriculture is influenced by numerous factors and it is not surprising that within even small regions
there will be differences in farm types, landscape and organisation. Even so, many geographers have
attempted both to classify and to map agricultural areas. In the 1930s many attempts were made,
basing agricultural regions on climatic division. However, a fundamental problem arising out of all
classifications is that farming tends to change over time. For instance, greater wealth and increased aid
given by developed to developing countries are blurring the distinctions between commerical and
subsistence farming and between intensive and extensive practices. Monocultural systems are being
modified by diversification of productions whereas some mixed farming areas are becoming more
specialised as in the case of arable farming in England.

Sub questions

Question Number : 141 Question Id : 53307220191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When farmers have learnt about crop rotation, fertilisers and seed selection than which type of
agriculture emerged ?

(I) Shifting

(2) Subsistence

(3) Commercial

(

4)  Sedentary

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307220192 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which type of agriculture involves the deliberate production of surpluses and farmers work
specifically for a profit ?

(1) Commercial

Extensive

sl [

(
(
(

)
) Intensive
g

Pastoral

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307220193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The most satisfactory attempt to classify world agricultural regions was made by :

(1) Grigg

(2) Whittlesey
(3)  Von Thunen
(4) Sinclair
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307220194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following crops is the main crop grown under the system of monoculture in
Indonesia ?

(1) Tea
) Cocoa
) Rubber
)

Sugercane

sl [

(
(3
(4
Options :
1.1
2.2



3.3
4.4

Question Number : 145 Question Id : 53307220195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which crop is dominant in the principal monsoon region of South East Asia ?

(1)  Wheat
(2) Rubber
(3) Sugarcane
(4) Rice
Options

1.1

2.2

3.3

4.4

Question Id : 53307220190 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307220191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T o % T T, 3 o1 it T & AR W T o R TR P 3 g
(1) MR

Options :
1.1
2.2
3.3
4.4



Question Number : 142 Question Id : 53307220192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) e

(2) =
(3 T

(4) RIS
Options :
1.1

2.2

3.3
4.4
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Question Number : 143 Question Id : 53307220193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forva &fy & 1 afiehd T 1 God HarsTe A forereh g1 fafan T o1 2

(1) T
(2) feeam
(3) dM g
(4) THFRT
Options :
1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307220194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307220195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1
(2) W
(3) =
(4) MG
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072790
Question Shuffling Allowed : No

Question Id : 53307220196 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage and answer the questions,

The main reason why gradation of the earth's surface proceeds differentially is that the rocks of
the earth’s crust vary in their lithology and structure and hence offer varying degrees of resistance to the
gradational processes. Some of these variations are very notable while others are very minute, but none
is so slight but that it affects, to some degree, the rate at which rocks waste. Except for regions of very
recent diastrophism, it is usually safe to assume that areas which are topographically high are underclaim
by “hard” rocks and those which are low by “meak” rocks, relatively speaking. Differences in rock
composition and structure are reflected not only in regional geomorphic variability but in the local
topography as well. Much of the minor topographic details, or what we may call the microtopography,
is related to rock variations often too minute in nature to be readily detectable.

Although varying lithology & structure are major factors contibuting to differential wasting of the
earth’s surface they are by no means the only reasons why geomorphic processes within narrow limits
may operate at variable rates. The local intensity of particular processes may change notably in response
to differences in such factors as temperature, moisture altitude, exposure, topographic configuration,
and the amount and type of vegetal cover. The microclimatic conditions may vary markedly between a
valley floor and a hilltop, between a northern and a southern exposure, and between base ground and
that with a heavy vegetal cover. These differences may be reflected in the amount of precipitation as
well as the type, the rate of evaporation, the amount of soil moisture, the intensity of insolation and the
number of times annually that temperatures fluctuate above and below the freezmg point. So complex
are the many factors mﬂuencmg the local rates of geomirphic processes that it is probably not much of
an exxageration to state that the rate of all weathering, all mass-wasting, all erosion, and all deposition
varies appreciably, within rather narrow limits in relation to the influence of local conditioning factors.
Recognition of this fundamental principle of landscape evolution is particularly pertinent to an
appreciation of the eteching concept.

Sub questions

Question Number : 146 Question Id : 53307220197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Diastrc-phi;: processes result in :

(1) erosion of landforms

(2) upliftment of earth’s surface
(3) subsidence of earth’s surface
(4) gradation of earth’s surface
Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 53307220198 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

What is lithology ?
(1) Study of physical properties of rocks

(2) Study of properties of soil
(3) Study of spectrum of light
(4) Study of planets

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 53307220199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of Etdli_ng does not involve :
(1) Sheetwash

(2) Creep

(3) Mass wasting
(4) Wind erosion
Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307220200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is gradation ?

(1)  Processes which level down the landforms

Processes which level up the landforms

3 B2

{
(
(4

)
) Processes which tend to bring the surface of the lithosphere to a common level
)

Erosion by running water

Options :
1.1
2.2
3.3
4.4



Question Number : 150 Question Id : 53307220201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Deep chemical decay of rocks is a feature of :
(1) Polar Regions

(2) Temperate Zone

(3) Humid Tropical Regions

(4) Tundra Region

Options :

1.1

2.2

3.3

4.4

Question Id : 53307220196 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307220197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geefereq wisranail o1 afomy g € -
(1) Y-3ATHTHAT = STIEA

(2) Yl I HaE F1 IAH

(3) YA H HB H eI

(4) 9= HT Haae T AU
Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 53307220198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et = T ?
(1) =g & ifdes o 1 e

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307220199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307220200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSI FATE ?

(1) Y-Trpfadi =1 TR SO FT are gfFan

(2) Y-TFTeEl o TR A FA H ARHAN

(3) TUTMEd %1 Ude I U G T I o arell Jiwand
(4) =&d Ul § e

Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307220201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e = el T & e faghar € 2

(1) gofa &=

(2)  ViTeroT &=

(3) g SOMHCEHTT 4
(4) TEA

Options :
1.1



2.2
3.3
4.4





